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logy log; {TTVT 1 ¥r, Torers = 3 2

tal  3log, 7

(B I—BIEEET
el 1-3log, 2
d L

8

afg fFeft 1o Aot w1 wum wE . afn
dmew 52, AR g e SRm A 20

(a) x==10
by =1<x=<0

ie) 0<x<li
(d}y =xz>10

Tt =w= o i

x

2, ‘{uﬂ+hx+x—

3. Ax*-b6x+ab

I # @ i it s
(a) aw 1,4 35

(hy hae 1,8, 435

fc)  EE 2, 4905

(dy e 12

(2-A)

W AT SR A H S w2 A
a} A=A"

(b} A'=A"1

ey A=Al

idi A=A
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A A, B 3l O vF AR meE Iy
#, o Pefafign 4 & sl wd S 20

(a) AUBNC=AUB N{AUC)
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1. What is the value of log, log; yTVTW7 equal|gq, A square matrix A is called orthogonal if

B (a) A=Al
(a} 3»1-:51 ) (b} At A_l
) 1-8log, T c A=A
(dl A=A
) 1-3log 2
where A' is the transpose of A,
T
(b E

6. IfA B and C are subsets of a Universal set,

then which one of the following is not correct ¥
2.  If an infinite GP has the first term x and the L -
sum: & then whith san-of the fllowing 44| B AUVBAQ=RAUBAGYER

correct 7 by AU Bi=BNnA'UA
mc‘l:{ﬂ'nﬂl'ﬂh'

(a) x<=10

b} —-10<x<0

€y 0=<x<10 fhfge s the complement of A.
(d} x>10
mnber of integers lying between
3.  Consider the follo 844l gehich have ol least two digits
L X+xT-—

2
= %x* —ax +bY 7. ﬁenumufthamri&aﬂ-1+%——;~+..._is
5 1 & equal to
"z x2+b J 20

Which of the above are rational expressions 7
{a) 1,4 and 5 only

{b) 1,3, 4and5only (el
{e) 2,4 andbonly
(d) 1and 2 only
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(4~

11 (2 + 30t % fwg o # 9oy wy = s
87

fa) &
(hh
le
{d}

12
108
216

12. UF 9 wEm A F fom, Fefefies d @ 99
o (Rt e AR E 2

1ol o wh i (w2
w1 WA I g
3
x2 sy? 9| & wmEn #,
x  10y® 27
?ﬂﬁhﬁaﬁﬁﬁmw (we) wfEfem
7
fa}) x-3
bl x-y
e y-3
id) x-3¥

Al



Congider the information given below and
answer the two (02) items that follow : ‘ . 7
A survey was conducted among 300 students. the binomial expansion of (2 + 3x)7 2
It was found that 125 students like to play m 6
cricket, 145 students= like to play foothall and

11. What is the coefficient of the middle term in

b 12
90 students like to play tennis. 32 students \
like to play exactly two games out of the three e} 108
B d)y 216

8, How many students like to play sll the three |12,  For a square matrix A, which of the following

gnrak? properties hold ?

iy 24 1, AT =

b 21 | 6 ).

le) 28 : det A

() 36 . 1A~} where A is a scalar

9. How many studentz 1ike

one game ?
(a) 198
{hy 228
e} 254
dy 268

16, If o and [} {= 0) are the roots of the g of the following [actors

equation x* + ax — = 0, then the gquadratic does the expangion of the determinant
EXPression ~x*+ax+ ) wherex &R has % ¥ 3
{a] Laantvalue_.]; % !:i;gilfEr 9 | contain 7

4

g 7 10w® 27|
(b)  Leastvalue - 7

1 fa) x-3

{ed  Greatest value 1 R

id) Greatest value % () ¥y—43
idy =-—3y
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4. [ eos{— B)
—&ini= 0}

TR T8

- ginf— EHIJ ;
W HEEEH
cosi— @)

cosfl  —sinfl
tal
—&ini s

16. 17 Torehe Tmns 8 fomd 3 5 Rawndt femnshh =t
whd & | 11 faenfedt 1 o dn 09 fER
alieRl & T = e & o 4 Tiears B 9

(a) C17,11)
by  C{12, 8)

e} C(17,51=C(H, 3)

dy Cib, 3 =xC(128)

c) 1

{dy 0

YPL-5-BLU

18, AR A 3 BT vFEOH HE & symeaiy o
W §, A (AR e wna & 0

{a) E—'l A—l
by AlB!
) B1A

idi A'B

(6-A)




14. What iz the adjoint of the matrix

{ — ginl- EI-I] 5
cos(= )
Ll

16.

posi— 6}

—ginl— H)

cos b

—ginf

—H_-il'lE
i b

16. What is the value of

(gL 2

2

where i=.l|':-f s

fad 3
i

el

(d 0

YPL-S-BLU (7T—A)

There are 17 cricket players, out of which
5 players can bowl. In how many ways can a
team of 11 players be selected so as to include
3 bowlers ?

{a) COT 11
(b} €12, 8)
(e) €17, 5)=CI(5,3)

Ch3=C12,8)

e of log, 27 + log, 32 7

If A and B are two invertible square matrices
of same order, then what is (AB) ! equal to 7

@ Blal
(b} A-1R?
(e} BlA
d) A'p




19. ﬂﬁa+b+nwl} %,Eﬁ

a-x o b
e b-x a =0

b a
% B 0 0 UE B B

fa)

C—X

X=id

(b) ==

JS (aZ + b2 4e?)
2

2 o bR
s :-J“’ +;= +e%)

d) =x=0

(&)

ey B

td)

wfte e

2x 4+ y =3z =5,

Gx— 2y + 2z =5 3R

ox—dy—z=16

T &

a1 B, U wigdE v % we

Fimrt. maaﬁaazﬁf%m

+1 = Ffmarsm § x-wa 5 e
v 2

(a}
(k)
(el
()
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(8-

22. TE (gAE) % TS & gay # Featatan o
HEEE R 7

(a) ¥ HE A B
® 3 Pemad g w e d
(c} U WWATE g WA #
dy T T H wE T
23, AE u, v 3 w (B o) i Ao
(GP) & pd oA wm B AW o

A HIFA (1 + x5 G maw § uen o W
T o B W (14 ¥ 1 % T v 4 9
Heg g & o e ¢ § | FeefEfes gedi |
# - Y W R 2

la)
{b)
(e
(d}

>4y
a<f+y
a=f+7y

a=fiy

A



19,

_ta]l

(bl

{c}

i}

!

ta)
(b
iel
id)

21.

What should be the we

If a+hb+e=10, then one of the solutions of

2 4
]dﬂﬁ'

16
- 16
8

The system of equations

2x+y—3z=5h,
Ax-2y+2z=5 and
bx-dy-z=18

Lol
(kb
4

ted)

¥PL-S-BLU

is inconsistent

is consistent, with a unigue solution
is consistent, with infinitely many
solutions

has its solution lying along x-axis in
three-dimensional space

(8-

24,

23 Which one of the following is correct in respect
of the cube roots of unity 7

{a) They are collinear

ik} They lie on a circle of radius v3
ic} They form an equilateral triangle
id) None of the above

v and w

msithreﬂ are the p'f, ¢ and
“then the determinant of the

(& 1

Let the coefficient of the middle term of the
binomial expansion of (1 + ¥°® be « and those
of two middle terms of the binomial expansion
of (1 + x*" =1 be P and y. Which one of the

following relations is correct 7
fal a=f+y

by oa<p+y

e} a=p+y

(d} a=py

Al




25, AR ERm A= (xeR i -12x=1),

27.

YPL-5-BLU

© 3 o ouaE ol ol xS Rom e R

B=lyeR:-1sys112 g AxBw
IOET=E B, W S = lix, vie AxBoaf +5i=1)
ZnT aftarias # |

frfefion & & s veadt 2 0
(a) S A¥® B TH v v 2

(b) 8 AH BH UH 9RUF Foid #

(¢} S, A® B TR vk e wfafam
#

(di SV Fo TEE

oM witau % ix) 8 TR = i e sres

T gix) = M) + Pla) + £ B, 71 et o
greafas « & fom

(a) gmix)l<D
(b}  pixi=0

{lﬂ E{]‘J =1}

(d)  gix)=0

{10-A)

28. UHHAM Wife % AR A, B 3 0 F wEw §

Frefafign = famw $ifim

1. (A+B+CY=A+B +C
2, (ABY=A'B'

3. (ABC)Y=CBA
A, AR A S e #
a9 # & FAH w0

(a) HEE 1302

i (11011), (10110110}, 3k
gtree,  fgama®t  Hem

30. wH ifsw 5 e B, vs o w=m AW

HEEE R B, A % B 3 S = o
AEHEE R [ | AR k i#0), WEHE A W
anfow #, 1 AR frod o @ 2

fa)
(bl W

(e K
id) (kN




25, let A=[xeBR:—-1<x=1},
B=lyeR:-15y<1) and S be the
subset of A = B, defined by

S=lxyvieA=xB:x*+y =1L

Which one of the following is correct ?

fa) 8 is a one-one function from A into B

(b) S is a many-one funetion from A into B

(e} 8 is abijective mapping from A into B

id) 5 is nota function

26, LatT:hath&r*htarm
1'=1.2.3. w. o I for 8
integers m and n we hage

T, = 1/m, then what is TZ_

(a) (mmny?

{h) ml+n

(e} 1

dy 0O
27. Suppose fix} is such a quadratic expression
that il is positive for all real x.
If gix) = fix) + Fix) + {x), then for any
real x

(@) gxl<0
by gixl=0
(¢) gix)=0
id) g@ixiz0

Y¥PL-S-BLU

28,

Consider the following in respect of matrices
A, B and C of same order :

1. (A+B+C/=A"+B+C

2. (AB)=A'R

3. (ABC) =CBA

where A’ is the transpose of the matrix A,
Which of the above are correct 7

30. Let matrix B be the adjoint of a square matrix
A, [ be the identity matrix of same order as A,
If k (=0} is the determinant of the matrix A,

then what is AB equal to ?
(a)

(b) K

() K

(dl (k)

(11-A)



81. AR (02% =2 3N Jog,, 2 = 0-3010 B, A x F
a1 Freem em w wn g
tal - 10:0
(b} —0v5
e} —04
) -0z

0 9 7% & fum amRl & g 5 o
et semd s masfi g 207
La} .
(h) 30240
() 27216

idy 15120

x
43, W[z

¥ z

a) (x-ylly—zi(z-2x)

(b} (x—yhiy—g)

e} {y—ziz—x)

) z-x*ix+y+z)

¥YPL-5-BLU

34. afe A, B3 ovw Bygw & w # afn

1 1 1

1+ginA 1+ginB 1eginG | =0
sinA+sin®A  sinB+sin®B  sinC4sin® O
B feffm it shm o af &0
() fiw ABC mufiEms 8
(b FrgE ABC mEm R
(e Fs ABC Tvmang 2
(dy B owsf F am F i Foewd off

ELR-E)

(dy FdFA 1,98 2

Ztan B

Tires arEr
14 tan”0 7

36.

ia) cos20
(b}
(e)

td)

tan 26
sin 20

coges 20

(12-A)



31. If (027 =2 and log,, 2= 03010, then what 54  IfA B and C are the angles of a triangle and

ia the value of ¥ to the nearest tenth 7 I 1 1
1+sinA T4 1ssine =0
(e} = 1040 sinA+aintA sinBeain?B  smC+uin®c
i —08 then which one of the following is correct ?
{a) The triangle ABC is isosceles
-
e . (b}  The triangle ABC is equilateral
id) —-02 e}  The triangle ABC is scalene

{d} Mo conclusion can be drawn with regard
to the nature of the triangle

ﬁwing in respect of matrices A
farder

(a} 45360
+BiiA =B
(h) 30240
=0 e AZ=1
el 27216
ntity matrizx and O is the
d) 15120

$3. What is the determinant
X ¥y ¥4z
¥ x z+x|? icy Bothland2
¥ ooz X4y {d} Neither 1 nor 2
@) (x—=ylly=—zliz—x)
ol R 36, “’hﬂtiﬁ-—?t—“%aqualm?
1+tan“8 )
by  (x—viiy—z)
iy {a} ©coa20
{e (y—zllz—x} ih) tan 26
{¢) sin 26
(d) (-0 {x+y+2)
id) cosec 26

YPL-S-8LU {(13-A)




87, A sec (0 - a), sec 0 HW sec (0 + o), TR 47t | 40, =t guin § o w5 A R | R
(AP)H #, T8 cos v 1R, A1 sin? 0 4 cos a1 HUE 3 (3 - tan® A - cot A = 1 W HIm
o R 7 Fm e Pefefm i g amom s
fa) O ia)  300°
) 1 b) 315°
@ =1 (e} 330°

1 d) 345°

@ =

38. 3R A+B+C-= lﬂﬂ"'i—’?ﬁ’
#in 2A - sin 2B - gin 2C

() —d sin A sin B si
(b) —4cosAsinBcos(
(e} —4cosAcosB siy

{d) —4sinAcosBens G

=14 Tifte FHEA cosec x + cot x = V3 FE
FEE | aﬂﬁﬂga%aqﬁﬁmﬁaq B E AW, A 0<x<2nB 7

Him 480 B | R 9w F IW F R 6 S

122 m &, 1 95 1 e 50 2 2 (a) %
(n) 122 &in48°m %
(b =
3
(b) 122 tan 42° m
{e) e "
{© 122cos48°m
n bn
(d) 122 tan 48°m @ =35

YPL-S-BLU (14-A}



87, If sec (B — ), sec A and see (0 + a) are in AP,
where cos o = 1, then what is the value of

ginf 04+ cosa?

) O
thy 1
# =1
1
(d} 5

38.
gin 2A — sin 2B — sin 2C ¢
{a) —4sinAsin B sin {
(b}
(e}

(d)

— 4 pos A gin B cos
—4 cos A cos B giniUC

— 4 gin A cos B cos

bridge from the balloon is 48° If the heig
the balloon above the bridge is 122 m, then

what is the length of the bridge ?
fa) 122 mn48"m
(hy 122 tan 42° m
fe) 122 pos 48" m

id) 122 tan 48° m

YPL-5-BLU {15

40. A is an angle in the fourth quadrant. It
aatisfies the trigonometric eguation

3(3 - tan® A — cot A)® = 1. Which one of the
following iz a value of A ?

(a) 300°

(by 315°

ey 3307

@) B45°

observed from the top and
of height h is at angles of
= and — rmpanﬁ\fﬂ'_'l.r What i= the

glare the solution(s) of the
nmr:t.+mt:l:=-.lr§.

whers 0= x<2n7

(a} o only
3
x
iy monly
on
& h A
@ wFiy

i)



43, ﬂﬁungt*ﬁt
12 cos @ + 1) (2 cos 26 — 1)1 ¢2 eoa p — 110
(2 cos 46— 1)10
FHE FE 7
ar 0
by 1
e}y 2
W) 4
44, TR cos o 3R cos B0 < o < i < n), fiwmm

TR 4x® - 8 = 0% 97 &, A sec a x sec f
] I w7
4

=

{al
(bl

te)

x & FIEE aEl A @ Fhamm wdem
I:un‘lEﬂxli-tan_][ExJ:Eﬂﬂﬂiﬁﬁ?

A 3
Heret 2 3 g
Fam 1304
et 4

(al
(b)
fel
i)

YPL-S-BLU

46. A u L A9 (GP) W I R 2 & el
THh I 9E W AR 8 B, W iR Avii
(GP) R

48, 1 FHw F T gemet = dee T 2
o 't Fi i g, 4 o0 5w o o
wEl ¥ it gy wften agF &0

2664

3882

{a}
{h)
(e} 4044

id)

[16-A)




43.

45.

YPL-S-BLU

It f= E then what is the value of

(% cos B + 119 (2 cos 20 — 11192 cos 6 — 1)10

{2 cos 48 — 1)10 7
{a)
(b}
(e}
(d)

I

If cog o and cos [ (0 < o < f < 7} are the roots
of the guadratic equation 4x? - 3 = 0, then

(b

=

Which of the above values of x igfare the
solutionis) of the equation

ran-! (2x) + tan~ (3x) = E ?

{a)
{h)
(e
(d)

3 only
2 and 3 only
1 and 4 only
4 only

46,

48,

(17T-A)

If the second term of a GP is 2 and the sum of
its infinite terms is 8, then the GP is

: h A !
[ﬂ': E. ip E} E. ree

2 2
(b} Eﬂ'i'ﬁ'
: 1 .- 1
led 4.2.1.5,21,.
3 3
hi] EfE'E‘I‘

i urGPnrHF.meu-—ﬂh::{s

What is the sum of all three-digit numbers
that ¢an be formed using all the digits 3, 4 and
f, when repetition of digits is not allowed ?

(a) 2664
(b) 3882
(el 4044
id) 4444



49, FAFOH ax® +bx + ¢ = 0 M pa® 4 qx 4+ r=0|gg. TR 2 & dy? — 0 - "
% qEll % e = # | afy p, ofw b, Eﬂmg?' aiabont e el

ﬁﬂr:ﬁmmﬁﬂaﬁﬁﬂm-,ﬂﬂ
L D, % g
Lo
. () g am 1 FE0 o ddem
(a) :—2 5
() Tﬂaﬁﬁnaﬁnﬁ@ﬁﬁ
hﬂ
B —
a° id  Ivdw A H FE T
el
(el

{e)

(e}

51. foell 99 & us =0 & @i (sin) g (x,, v,
#N (xy, y,) &, T 39 g7 1 wefie B

(a) E:I{-JI.IHH*—,I.EJ'-I-'[E'--]"1}{5"—?2.:|=12+]"E '+ mm'
) (x=x Fely-y P ey,
te) x¥seytedxx 42y y. =0

fm' +I'm
id) {x-—x)ix-x) - —y)= d
x=2)) (X =%g) + Y =3y} (y = y) = 0 “}m‘

YPL-5-BLU (18-A)




49. The ratio of roots of the equations|B2. The second degree equation

ax? 4 bx + ¢ = 0 and px? + qx + v =0 are equal, x4 dy? —2x — 4y + 2=0 represents
Ir l}:l. and D, are respective discriminants,
ﬁwnwhatla%l—ﬂqnﬂlhu? I iSpomt
2
(b)  An ellipse of semi-major nxis 1
o=
A
25
P T s - ol
(e MHﬂlﬂEWﬂhﬂm&nmm—iﬂ
h2
b =
1 id}  Nene of the above
el

e ==
re

{(d) None of the above

the two lines
Fx + m'y+n' =0 15
at is 0 equal to ?

0. If A = sin® 6 + cos? 8,
which one of the followi
a) 1=A=2

a
i —=zA=1
b} 3

13
S EA
{el T =1

ay Bgacil

4 16

51. The equation of a circle whose end points of &
diamatarare{nl,:r]}nnﬂ:x?h}is fel |

(a) (x=x,) {I—Iﬂ}-ﬁ [f—y,}{y—yﬂg = x* ~i-:|.'E
thy (x- :lfl +ly— 1.'11=I = Kg¥p

&) x+y°+ 2x .+ 29,7, =0 () \lm'+fn:.

(d) (x-—xx—xd+ly—y ) ly-yy0=0

YPL-8-BLU (19-A)




54. Fr=fefes waei o Rem #ifa

1. T oy = mx + e, 3 y = mx + ¢,
‘-!ﬂ?l‘-ﬂ@ gy — “3|-#|
l+m
TEHT ax o+ by +e,=0 ¥R
ax + by + ¢, =0 % ¥4 ) Zh
sl g
a? + p?

3 mﬁn-claﬂ'{:=n:%ifﬁlﬂ@
lr:i—cg_lﬂ'l

ﬂmmim}mua-ﬁy 6= l}':ii
R 7

(a) 20x + 25y —54=0
(b) 25x+20y-54=0
le) 4x+8y—564=0

(d) dx+8y-45=0

56, FHAW Ox - 6y + 22+ 11 = 0 F fag (2,3, 0
ot et 2 0

(@) 1 YFe (umEw)
by 2 g (areE)
(el 4 qHE (ATEH)
) 4 IF= (vm)

YPL-S-BLU {20

57, Fsaio P R % Famrs s (0, 0, 0),
' (Pe2m), | n) 37 (2, 4, 6) & | 5 Hfaw
1% Wy S K FE q@nel oR, OF, PO

58, tmr X-1 .

2 E=d
= 25~ Towdt foefim e

2

37

(a) x+y+z=6 x+2y-3z=-4

th) x+2y-2z=-1, dx+4dy—-5z-3=0
e} Sx+2y-8z=0, Ix-6Gy+8z=-2

) 3x+2Zy-9z=-2 Sx—-6y+3Izal

— A




YPL-S-BLU

54. Conzider the following statements :

1. The distance between the lines

-
y=mx + ¢, and y = mx + ¢, s gg_
1+m?

2. The distance betwesn the lines

ax+by +e;=0and ax + by + ;=08
1~ Cg| i
a5+h2
3. The distance between the lines x = ¢
and x=cyis | gy —ey).

(al 1andZ2 only
th) 2and3 only
i)  1and3only

dy 1,2and3

%+l-1m%+% = 1, and parallel to
the line dx + Gy —6=07
(a) 20x+25y-54=0
(h) 26x+20y-04=10

fe) 4dax+5y—-54=0

(d) dx+b6v—-d45=0

(21-A)

B6. What is the distance of the point (2, 3, 4) from

the plane 3x -6y + 22+ 11=07

fa) 1 unit

{b) 2 units
el 3 units
(d) 4 units

points (1, P, @ and R are
0), (4, B, 2m), (2, 0, Zn) and
>t L, M, N and K be points on the
g, PG and QR respectively such
'8 a parallelogram whose two

The line I;1 _y;ﬂ =113 is given hy

{a) x+y+2mb x+2y—-Jz=-4
hy x+2y-2z=-1 dx+dy-Hz—-3=0
) dx+2%y—8z=0, 3x-6y+3z=-2

(d) 3Sx+2y-fz=-12, Sx-By+3z=0



59. Fr=fefas wuai o fmm i .

YPL-5-BLU

1. e 2x-y+r=13M a+y+22=3
%iﬂiﬁlﬁm%h

2, HAWEH 6x - 8y + 62 + 2 = 0 aff
ﬂz-y+aa+4=uﬁﬂﬂﬂ=ﬁraj’t%'ﬁl

I9YTF FEHE O W wEE w5 2E
(a) Ed 1
(b} EE 2
e

{d)

w3 el & gaw d, Foafaten § @
CHEE R

(a) 1 FEA 19 11 A6 # i w11 W
| =1 FH P R

(b) = wEA 1 F I oud #, e weEw o
YA | T FA S A R

(c) A I WEI &, o @ 11 e @

(d) e [ e R, P e oo @

(22-A)

. 30 Fiym & e T R o

k] () (ot

(a)  lxy —xh (g — X5) (Rg ~ 2, )|
by 0

Xy = EE}{IE == I;ﬂ{l’.‘g —Hij
A XXy

(el

:I]_ - IEJ{HE —KE}{EE —Il_:l

2xyxaxy

63. WF ofifm BR (S| =0, |B| 20 R

(8 + B)(@ + Bi=|F|%+ | b2 mh
B 2, af2 i e al

ja) @ ¥ bomE

(b) & 3 b wEw e

(e @ ¥t B,45°%F F 7 oA B

@ & ¥ b wfiesied




59, Consider the following statements

1.  The angle between the planes
Ox—y+zalandx+y+2z=3i8 %

2.  The distance hetween the planes
Gx—3y+62+2=0 and
x—y+2Zz+4=0is il

Which of the above statements isfare

correct 7

a) 1only

(b) 2 only

{¢) Bothland2

(d} Neither 1nor2

60, Consider the following sta

Statement I': I the lin : 1

points P fn { :

subtends §§ =T ¢

the ia

s = 1
€08 @ =
| |

Statement 11 : In any triangle @H

that a? = b? + ¢ - 208

Which one of the following is correct in resped

of the above two statements ?

ia} Both Statement | and Statement I are
true and Statement I1 is the correct
explanation of Statement, 1

{bi Both Statement [ and Statement II are
true, but Statement I1 is not the correct
explanation of Statement I

icd  Statement 1 is true, but Statement Il is
false

{d} Statement | is false, but Statement I1 is-
bring

¥PL-S-BLU (23

61. What is the area of the triangle with vertices
[I. i x l [I ...-'.l..- *
:!11 i E:xz i Eixs
)%y — %) (g — xg) (xg— 2y}
b} O
(e} (x] —xahlxs —%g)lxg — ¥y )
X1E3Xa
(& (xy—%ghixg — . xa —xq)
Zxyxgxy

the circlhe

+%=mﬂmnthenml at
s the circle at the point

83. Let|d | =0, | |=0.

R+ BT+ B)=|7 |2+ |12
holds if and only if

fa) =and ¥ are perpendicular
(k)

fe)

Zand B are parallel
— -
% and B are inclined at an angle of 45°

(dy #and B are anti-parallel

_hn



X+¥
—(x+y+zl

id) (x+y+al

85. wm 2i - + k ol —4f - &, v

(k)
Lel

(e}

e | & =3, |B | =43 |2 - | =52
A|a+ b | TETFTR?

(a) 8
ihy &
¢) 542
id) B
YPL-S-BLU (24— 4 )

o= oifee F, b 3 T dw wewm oW
wfem #, wew W wifwE g R | AR
AudsBbie.Bedg-+20k
Eui}--ﬂr-?ﬁ.ﬂﬁﬁ%ﬁhﬂﬂﬂiﬂmﬂl
U WE R 7

@ |A|>|B|>|C|

b |A|=|B|=|C|

@ |X|=|B|=|C]

i |A 1#|C |

Ql

|+ 2] + 3k W rafim vE safEEE w T
Tz 1 BiE4 | wk w5 smifes § | sAfEE
& gl =1 ot B

(@) &
(b} 3
€r  JBi
(d) I H A = TH



sl
-H.It'?=:;+yj+z£.thanwhﬂi!-ﬂr'l.1;et?.,?anﬂehcthraemumnﬂr
il + ]+ koequalto? perpendicular vectors each of unit magnitude,
_b
If:=?+?+?.'ﬂ=?—?+?md
lal X T =% -1 - ¢, then which one of the
(b} x+¥ following is correct 7
g} —lx+y+sl (a) |E]:|E|}|E|
: —*
dl  (x+y+z ") |I|=|B|=*[E|
=
A
85. A unit vector pqrpnnd::ula: tn asur:h
mwr32|—_}+tand31-4_1

fa
s{m + b )equalto?
ih)
el
{d)
: A & A
B9. A spacecraft located at i 4+ 2j + 3k is
b - B
6. If |a |=8 |b|=dand |a — b | =5 subjected to a force Ak by firing a rocket. The
P~
then what is the valueof |8 +b |7 spacecraft is subjected to a moment of
) B magnitude
{a) A
by &
(b} J3A
e} B2
e} BA
idi &
(d} Noneof the above

¥PL-S-BLU (25-A)




70. wE figa ABc o, ofz w4 fam W, A|73. R
ﬁﬂﬁﬁﬂmﬂﬂﬁﬂﬂﬁm: gin S
b i — el . -ﬂﬁﬂﬂﬂ
L AB + BC + CA = 0 fix) = - ot femm ifau -
2 ABeBb-Ghe7 5 #Rx-0
3. AB-BC+CA=0 wem & way A, Frefafes § & w0 o od
o A 2
4. BA-BC+CA =0
x =09 §ad
SISR FF § SEOP P L
fal (b} 4% TrdF x W Hod 8

Uth
(b} & (¢ AMx=n B
{ey A 22 N @ ﬁ«‘:i
|n .
. R\

71. TR #Hifan & 5% ¢ =
tan 6% | 79 30 (0, 27

(a) E : ;ﬂn
3

(b T“ : N

e E = 3T FTFEHE B

() %

— i)
75. ﬂﬁmﬁ:J:E_ﬂ_limiﬁrﬂqﬁ
2x +tan™ x

79, 1R o= Y R owoum gem w1 afon weu g Wouen B, Al oy w wA wm Ry

1

AT R, T HE S T R 7 @ -3
fal  —em d) U4, )

iy &
thy |4, =) 4
(el (1, 4) L (4, =) (e} g
dl 1, 40U (4, ==

dy 2

YPL-5-BLU (26— A)




70. In a triangle ABC, if taken in order, consider

the following statements
-

1. .d“:?]lh}~r-]3ll‘.'j+(I‘:z‘=f'.lIr
—p —

9. AB+BC-CA=0
3. A-.ﬁ—l_}’t-hc_i:[_r
e —# —§

4. BA — BC +CA =
How many of the above
correct 7
ian) One
(b} Two
el
id} Four

71. Let the slope of the

tan @, Then the value of

is
(a) g
(b) #Tﬂ
(c) %
(d) g
72. Iffix)= -1

what ia its domzain ?

(a) (—oo, 4} {4, =)

(i [4, o

e) (1, 4) U4, =)

dy  [1,4)0 (4, =)
YPL-5-BLU

1 defines a function on R, then

73.

(27-A)

Consider the function

fixi=
2 )
R i =0
16 i

Which one of the following is correct in respect

of the function ?
{a) Iti= not continuous atx =0

(by Itisconlinuous at every x

‘el It is not

inuous at x = 1

ps atx=10

= |x - 3|, which one of

eontinuous at each point in its domain, then
what 15 the value of f10) ?

(a)

(bl

Lo b o] e

el

(d}

B3



76, aﬁ. fix) = -ﬂlﬂ.ﬁ—hﬂ.z %' ﬂ lim fix)— (1) .
J k=1 x-1
formiF T 2 7
{a) _?%ﬁ
1
(h)
J2s
1
{e) —
¥ T
{d) ;:1&.

(a) uE, T [u.g] & oA &

(b} AR, HATH [g] - WOS—

¥YPL-5-BLU

Wﬂx}:xﬂx+m3+%mﬁx

Bl1.

(28-4)

‘AR, EHET fin) = %2 — dx + 5
e R, W A= (1, 4R ) e
Gl

| b

J-txldnf

;W'lﬂhi‘lﬁﬁk?

- xldx formds woan &, el ()

(al
th)
ick 0O

id)




76. If fix)=25-x*, then  what
. Fix)—f1)

i i
11:11l A equal to

is

a) -

{b)

(e)

id)

[fy:tlm_l E—Etﬂ.ﬁﬁ
2+Etﬂ.n;z i

equal to ?

1

(al

) 1
el -1

1

2y

id)

Which one of the following
respect of the function

fix)=x sin % + COB X + % mﬂx?

fal It is increasing in the interval [u, %]

ib} It remains constant in the interval

w
(‘“E)
(¢) It is decreasing in the interval [n,g)

idy It is decreasing in the interval [:—:—, %]

YPL-S-BLU (28

79. What is gimﬂ——-'”f:“g equal to ?

a) 2
(b} 242
1
l':} E’
W = 2_11;"5'-

81. What is Ih:]d:+j[--l]¢: equal to,
n

where ] is the greatest integer function ?

fa} b-a
(b} a-b
ey O

@ 20—

—A)




2}
82, I]x—ﬁld: o T 2
2

ta) 2
(b} 3
(e} 4
idr 8§

b cos x4+ e

bt sin*x+e

5. J'emm'a;ﬁmaamz.?

ta) fn|tanx | +e
th} I |seex | +c

(el tanx 4+

) e ae

FE o HEEREA-IE R

YPL-S-BLU

(30-A)

(@l

h)

{c)

(dh

(b}

fe)

(d)

:—:% —a'y=0
%—a}mlﬂ
.:Eg ray=0




A 1
82. What is I Ix—5]dx squalto? 85. What is I{%{mn‘li]}:ﬁ e
| =1
fa) 2 g} O
iy 3 ; _x
b -3
[[-1] d
ft
@ 8 ® -3
It
@ 3

83. What is J- sin® x cos x dx  equal to 2

7, O

i sin*x+e
“ (1 —sin® x)* "
i
g
(di 4. u: % '

it

B4, What is jemm”dﬂ: equal to 7

a} In|tanx | +e¢

(B In | seex | +e

:i:'
{h) -y =0
T ay
(el tan x + ¢
dﬂ
id) &®F4e {ed E%'F“-ﬂ
where ¢ is the constant of integration. i g%**ﬂa}ﬁﬂ
X

YPL-3-BLU (31-A)




ge. g (-1, -2 A TR A M9l TR u - o™ sin bx W v = ™ con bx B, A
dy 1 3 du dv
E:-xﬂ-ﬁaﬁrmﬂiﬂﬂﬂﬁiﬂ u s+ v FER SR
HffEo

' (a) ae™™

fa) 17xy—6x-+3x° —2=0
; e b (ad+bhe™

(b} Exly+1Tx +2x"—3=0
o ic) abe ™

] -2 4 1T +3=0
¥ el i) (a+b)e™

d) 17y +bxy-3x"+5=0

x) #, A1 Ffelea § & s

y = si

afz

+y =)
3 JTes e E 7
fa) 1
(b) 2
[,ﬂ:l E %+]‘=ﬂ
dr 4
w:d—‘."-l-y:ﬂ
dx

99. UF fm % w9 § = g A v WA W

&

a) ae™+bhe¥=¢ 40 m TS % U AW H A wmE e R | A
Frt w1 sfman dwfm dwwe 8, @ d9

by Lewi Loy g

A b CaREE R

] nﬂ“+ht_b""=r.: fa) 265m
(by 20m

(el lﬂ‘ﬂ+lﬂrh‘r=g

. b (¢} 10m
ﬁﬂeﬁﬁ?&aﬁt‘%| idd BHm

YPL-S-BLU (32-A)



The equation of the curve passing(91. If u=e" gin bx and v = &™ ¢os bx, then

through the point (-1, — 2} which satisfies whatisu::t—u +v~:—:raqu.i]tu?
dy a1 g

=—x'-
x % (a) ae®®

(@) 17x°y—6x" +9x°—2=10

b)  Ex'y 17" + 2x" —3 =0

by {a°+b%e™™

(&) abe™®

© Gay-2x 4175 +8=0 iih {a+b]ﬁu.

d) 17y +Bxy—3x" +5=0

, then which one of the
What iz the order of the )

equation whose

y=ga0c08 X+ hsinx+ce’

and d are arbitrary o

(a) 1

by 2

ic) 3 +y=0
id) 4

93. A flower-bed in the form of a sector has been

(gl ae™+be®=¢ fonced by a wire of 40m length. If the
flower-bed has the groatest possible ares, then
I '
a b what is the radius of the sector 7
el ae™s+be bY o la) 25m
1 ) (b) 20m
2, L by
idy aE + ha C @) 10m
where ¢ is an arbitrary constant. (d] bHm

YPL-5-BLU (33-A)




1
94, [x(x—1)+1]3, T8 0= x <18, w1 7R 7= 97 Iﬁﬂi—ﬂ—mmt?
T a0 a® sin® x + b° cos” x
1 1 =1/ atan x
(b) 1 ) c__;:lr._t&n_:l[htaux]
1 ab A
] E
1 {el c+itm'l_1[w]
33 ah a
(d) [E]
(@) I | & w0 Tl
i mmmﬂil
05, Ilﬂ.yufai.nxﬂ'lt,ﬁl:u— ‘-' ] p
R T
X filx + y) = foftyy 3
fayy 2 Hm“"‘:'ﬁﬂ 2, Wl Jim, glx) = & 3R
i 7 (x) oees s R 2
&) ﬂﬂtﬁm_h-.ﬂ"a'n}

G

i
2 6(fin2+/3m

{e) 2

.
S(alL o
- 26 (8 fn 2— J3n)

i i o : fa) v-x+dlnix+yl=c
i b} wvi+x+2hnxs+yime
(a) co8X+8inX
= I X }=c
(b} —{cosx + &in x) e} y-x+lnix+y
fe) +{cosx+sinx) d}y y+x+2nix+yi=c
(d) T # & A e o s W R |

YPL-S-BLU (34-A)




i

B4,  What is the minimum value of [x(x — 1)+ 1]3,
where0=x=17
1
LT
() [‘!]
by 1
1
(ed 3
1
dha
i -
@ (3]
85. Ify= |sinx|'*, then what is th
w
IIII—E?
-
&
w8 (6in 2 - +3m)
]
6
) 2606 In 2+ J3n)
L]
_R
L1
@ 256hn2+.8u
G
x
1] -
@ 286in2 Jax)
L]
DA, Whntia——‘_;ha:aqmlhwhnm
n T
I:x-r:-i'i"
fal opsx+szinx
(b} - {cosx + sin x}
fe)  %{cosx + sin x)
id} None of the above
YPL-S-BLU { 35

a7,

a9,

~A)

Whatis | ——5 o eiusl to?
a2 gin? x + b? gos? x

1. ifatanx
(a) e+ abtan (......__.h ]
_A . —afbtan ::]
b}y e _nhm [ -
el e+ itan“[h—tiﬂ]
ah &
(d) None of the above

What is the solution of the differential

e 2221
(@) y=-x+dinlx+yl=c

b y+x+2nix+vi=c

&) yv-x+lnix+yl=

dl] y+x+2nix+vi=c
where ¢ is an arbitrary constant.

t of integration.



p B +
100, lim —oo XTENX-1 fos g f 7
WE Ppintx-—-dsnx+1

1
I:H} —E
1
b -3
(e) -2
idy -4
101, af2 3 9@ i 9@ § s wma
5 WM B, W AeE 10
i &
1
{m) E
4
b
3
(e} ﬁ
2
G
102. 30 YU ¥ UF WY=A W SAEA HEEed

o (8 B | T tiEs weEEm gR A saen
T <1 wfgem #

fo)  BO0%
by 205
(o)  Bd4%
id) 36%
YPL-S-BLU

103, Fefr o oA F v flE w6 e
A 25 W9 ® | WG AEPET & T H e
=g 26 @ 3R i @ EaE #o21 Ad R, A
T § el st st 6 sl w2

(a) 20,80
(b) 40, 60
fed 60, 40
(d) 80,20

104, T sin o W cos o F TS W sin R S
" F T WA sin 0 8, W
/8 wé B8 0

ma =ifye & A B ¥ ¢ v IfEss wEm A
Haftd #H i wyatdd s e gt
# 1 3f2 pB) = 15 PiA) 3t PC) = 05 P(B) B,
Al P mmE B

{m)
{h)

{4

[ alps = s
= wfe s &

id)

(3E-A)




100.

101.

102.

YPL-S-BLU

2sin® x +sinx -1
What iz lim
*""E 2sin® x —9sinx+1

equal

to 7

() =

B ] =

ik -

A=

ey -2

dr -3

If two dice are thrown and at les
dice shows 5, then the probah)
sum is 10 or more is

{a)

=

(b)

{e)

Sles

(d)

Bies

The correlation coefficient computed from a
set of 30 observations ia 0-8. Then the

percentage of variation not explained by linear
regression 1%

{a)  80%
ib)  20%
€) 64%

d)  36%

(37T -A)

. The average age of a combined group of men

and women is 25 years. If the average age of
the group of men is 26 years and that of the
group of women is 21 years, then the
percentage of men and women in the group is
respectively

fal 20, B0
(h) 40, 80
(ed 60, 40
(d) 80,20

104. If sin B is the harmonic mean of sin o and

g0, and gin e arithmetic mean of sin o
iz, the of the following isfare

Let A, B and C be three mutually exclusive
and exhaustive events associated with a
random experiment. If P(B) = 1-6 PA) and
P{C) = -6 P(B), then P{A) is equal to

{a)
{hi
el

L}

— D == = | =
B | B u!;. |



106. % =iee Faed d, 7w K v, 2 S & w.
ICAEA & OHEA: 25%, 35% AN 40w deE) w
Tewior et & | A X, Y, 2 R 2w, 4% o
no Srqul deel o Fmin weht € ) e 4 @
Tfee® w9 § Uw diee fwwen @ § o 9
Zrgel Srn T & ) w38 el
X I S T 9 7

&)
(b}
(e

id)

107,

{h)
i)

td)

YPL-S-BLU

108. o=l & # wgr ¥ e 3 wefEal o
1 WEF; 2 F5feal s 2 wEw: 1 W 3R
37%% § | 7S waE O @ afew wY W@ US
S W G A R | G M A A= A,
1 g A 2 Fewl % 2 o wm w2 o

13
32

{al

ﬂ'&p
B

3. A% gft f wiw R S g =
T o, @ afom g & owen )

T i A PAE w0
(a) 1,2¥R3

(b  Ham 1 aie

#ad 133
#Fad 2 3w g

A fmea 1 10 6 gig 71 A

e}

td)

(38-A)




106. In a bolt factory, machines X, ¥, Z
manufacture bolta that are respectively 25%,
35% and 40% of the factory's total output, The
machines X, Y, 2 respectively produce 2%, 4%
and 6% defective bolts. A bolt is drawn at
random from the product and is found to be
defective, What is the probability that it was
manufactured by machine X 7
i
fal 35
14
(b T
20
(el 30
a4
() =5
107. B eoins are tossed
probability of getting at least 6 heads 1=
Jr-
La) v
57
(b o
a7
e Eﬁ—'ﬂ
229
{d} 256
¥YPL-S-BLU

(38— A

108. Three groups of children contain 3 girls and

1 hay; 2 girls and 2 boys; 1 girl and 3 boys.
One child is selected at random from each
group. The probability that the three selected

consist of 1 girl and 2 boys ia
13

(a) =
E.

(b 55

d to each entry on a list,
erage increases by 10,

a added to each entry on a list,

the standard deviation increases by

3 If each entry on a list is doubled, then
the average doublos.

Which of the above statements are correct ?

(a) 1,2and3

(b))  1and2only

{e)  1and3d only

{d) 2 and3only



110. 25 el 1 v 4 2 | I v T 0 2 g
fen @ 8, &t oftomft Seil w1 S v =
27
fa)
ihi
(el
(d)

® &, & B

afy &t =it Xosf v A x> 0,5, > 0 8
(i=1,2 3 .. 08 76 5 TG AT SHE:

111.

(bJ
(]

{d}

112,

| | FAAH wE R

1. PAI+PB)=2-2p¢q
2. PANBisl-p-g
(a) a1

(b) e 2

() 13 22

(d) F®LAE2

YPL-5-BLU

118, 4R X W Y & g ek - 6 ], 3 X af
?ﬁ:mmﬂm—%tﬁ‘r?mxm

HGTE TF FT
tal '2;.1

b - 2—‘;

© = %

(d) %

Wwr 2 f5 oft am fim # ain omf
AT U w fEr e # | oA
W T[T o EMT H

yfoeama #fig S 9 # | |x—y| > 5% EF
1 il #

6
11
35
121

30
121

25
121

la)

ih)

te)

(d)

(40-A)



110.

111.

112

YPL-S-BLU

The variance of 25 observations is 4. If 2 is
added to each observation, then the new
varinnce of the resulling observations is

(a) 2
hy 4
e} B
d) 8

Ifx>0,y>00=1,23,..n are the values
of two variables X and Y with geometric
meang P oand Q respectively, then LR

g P
(b}  antilog [E]

ey ndlogP—logQ)

tdy  nllogP +log Q)

that exactly one of A, B oceurs is q, then
of the following is/are correct ?

1. PAI+PIBi=2-2p-q
2 PA r‘IE]=1—p-q

Select the correct answer using the code given
below

{a) 1only

ihy 2 only
(el  Both 1and?2

id) Neither 1 nor 2

(41=A)

113. If the regression coefficient of Y on X is — 6,

and the correlation coefficient between X and
¥ _%,ﬂmn the regression soefficient of X

on Y would be
(a) %

o - 2—2-
& - %

) %

integers x and ¥ are chosen with

replacement from the get [0, 1, 2, ..., 10}. The

probability that |x -y | > 5is

lal .
1

(b) ——
)

id}




116. ¥% B T q HEluw €1 waE A MW B H
wftrr] w1 fn mw uies dEAT s R,

Tr=fefigs afoms # & -

AT A | FEHT B
iR &) FE=m 500 BOD
e s 96 T 1860 | T 1750
ﬂﬂﬁ*ﬁﬁﬁlm Bl 100

FafEi A = B % ol wf & o ae fom
e qiftE g W dee i e S E W
a8

(a) ¥ 1860, 100

{b) ¥ 1750, 100

{ey ¥ 1800, 81

v & & w5

id}

# o fFs v W
#% F, W, ek
Fohl W B I“ﬁﬁﬁﬁhxr
-1, TR0, WAL W s s i frefe
wd # | 78 TN % awfem wfomE oG
Wiﬁix}y}zﬂ?

117.

(a) 14

(bl 16

(e} 18

d) 20

¥PL-S-BLU

{42~

118. U s 4, Frafafies 4 & v o @
HEAT B 7

{a) WIEA
(b T ()
(e} T[UTER HIED
() T (A18)

20, FetetEn W oA fee v R o8, s o
FUTTesE: TEdEy 9w B ) ke w0

(o) it s il 6 A

() A = T s ghgeen

(o) WO wOREET & @™ 3 39 gE) & e
Fomemr 3= AT w9

(d) =i w A SR FwEe 6 e (3T

Al




116. An analysiz of menthly wages paid to the
workers in two firms A and B bolonging to the
same industry gives the following result ;

Firm A | Firm B
Number of workers GO0 GO0
i"ﬁmﬂﬂ monthly ® 1860 | ¥ 1750
Variance of
Niatsrirkion nfwn_gﬁ Bl 100

The average of monthly wage and variance of
distribution Df‘l'l'ﬂgl!ﬂi aof all the warkers.d

fa) ¥ 1860, 100
(b} ¥ 1750, 100
(e} ¥ 1800, B1

(d}  MNone of the above

117. Three dice having digits 1, 2,

Let x, v and 2 represent the number on die-1
die-Il and die-ITl respectively. What is the
number of possible outeomes soach that

Exy>x?
(al 14
by 18
e} 1B
(d) 20
¥PL-5-BLU

11B8. Which one of the following can be obtained

from an ogive 7
(al Mean
(bl Median

ied Geometlric mean

idl Mode

120, In which one of the following cases would yvou

—A)

expect to get o negative correlation 7
{n)  The ages of hushands and wives
{bl  Bhoe sizge and intellipence

{e)  Insurance companies’ profits and the
number of claims they have to pay

(d] - Amount of rainfall and yield of crop
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